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- Instructions for the Candidates

1.
.- This paper consists of fifty (50) multiple choice type questions. All questions are compulsory.
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Write your Roll Number in the space provided on the top of this page.

Each item has upto four alternative responses marked (A), (B), (C) and (D). The answer should
be a capital letter for the selected option. The answer letter ‘A’ should entirely be contained within
the corresponding square.

Correct method A Wrong Method 3 or m
Your responses to the items for this paper are to be indicated on the ICR Answer Sheet under
paper II only

Read instructions given inside carefully.

One sheet is attached at the end of the booklet for rough work.

You should return the test booklet to the invigilator at the end of paper q.nd should not carry
any paper with you outside the examination hall.
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Note :— This paper contams fifty (50) multiple:choice questlons, each questlon

«Aly |

‘carrying two (2) marks. Attempt all the -questions.

= WL Hauadl YW (40) wgfselly ual 8. g1 uadL A(2) o

8. 64l Naidl G eui).

Marshallian Demand Analysis. assumes marginal utility of money :

(A) Constant ) (B) Increasing
(C) Decreasing (D) Fluctuating
Waldlun yio [Etncl\uem vu-euvu AHid g :

Q) Rar B) a8l %dl

(© Hadl ¥dl | - D) aadi-uadl 6iq

slatl Qe sl 209 8.
When the demand curve is perfectly elastlc MR is equal to :

(A) Zero (B) One

(C) Average Cost ‘ (D) Average Revenue
AU HidAL a5 Ayelud 1&&&&1 Sl A AHid wngil t»mm
@) B) s

(C©) AL v : @) AU uell
AY 6, | :

In the case of Giffen goods, income effect is:

(A) ' Positive 4 ‘ (B) .Inﬁmte '

(C) Zero S o - D) Strong Negatlve |
Newt axg W2, wuas wA : |

@A) a- L ® wie
©) Y - @) WA e Bud
elu 8, . |
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4. In Cobb-Douglas production function, elasticity of substitution between factors
is :

(A) Zero -~ (B) One
(C) Infinite | (D) Greater than one | 5
Ao-SoaA Gewigst QA w2, Gawe-ll wa-d A0 21A-0 yerudaa :
@) Y | ® N |
(©) wirid @) s sl ay
Sl 89, |

5. Who gave the first scientific treatment of general equilibrium analysis ? |

[ (A) J. B. Say | | (B) E. Chamberlin
‘ (C) Leon Walras D) dJoan Robinson

auys Angal Rsdua -l Al wan dufis wel 49 2wl ?
@A) .. A @) §. Vol .
(©) el aie O) Auirt ol

6. The opportunity cost of a factor of production with specific use is : o j
(A) Very high (B) Infinite
(C) Zero " | (D) Constant , ‘
As AlssA GUADL YAdl Geuterril wan-dl AsRus w
(A) v w2l | B) iid
© L D) Ra? j

7. Market externalities come from : ’ '
(A) Size externalities (B) Monopolies o |
(C) Imperfect information ®) (A) and (C) |
oo BUR GGl
(A) se~il @lell | B) Sl
(©) iyel ulddl ‘ ®) (A) 21 (C)

gl Mitd 2y 9.
Eco.—I1 : 4




8. Life Cycle Hypothe81s was formulated by
(A) Franco Modigliani ‘

(B) Milton Friedman
(C) J. M. Keynes
(D) Duesenbury
@A As. ylRsey-l :

(A) si-si Hidlodlaul
B) [Mee glsiaAn

(©) F.2H. 35

D) SsyR-el

gLl A 2udl 8

9. The restatement of the quantity theory of money was given by :
(A) Irving Fischer
(B) P. A. Samuelson
(C) Milton Friedman
(D) Pigou
Rl wRaeucss Rigiasd Yt AW ¢
A) $xdla glax
B) .2 asguaavt
(©) Biceri s

D) iy
LRl Y SR 2y 8.

10.  Phillip’s curve is vertical : ,
(A) When there is no trade-off between inflation and unemployment
(B) When inflation and unemployment move together
(C) Inflation rises faster than unemployment
(D) Unemployment rises faster than inflation
(el as, Goil as ¢y &, awid :

(A) goudl 2 ARUI] A2 otigmls widl ]
(B) goudl 2 AAowoulHi WA o 3381 WY B
(©) AUl sdi goudl ay »suell af

D) g4l sl QAU agy »sudl ad &

Eco.—II 5 P.T.O.




11.

12.

13.

J. S. Duesenberry’s analysis of Income-Consumption function is known as :
(A) Permanent Income Hypothesis

(B) Absolute Income Hypothesis

(C) Relative Income Hypothesis

D) Life Cycle Theory

F. 0%, sy-odld was-quuy [Qdud Rv@a»t@

@A) sl das wlRseu

B) e 2uas wRseuw

(C) WA 2uas ulRseus

D) @add 45 Rigid

Al 2wy 8.

Which of the folowing is the equation of exchange ?

@ p=M MV (B) P=MVIT
() MV = PT (D) All of these
Al sy QA3 wlswe 8 7 |

@) P = MV——J;P—M B) P = MV/T
(C) MV = PT O) 2wl s

The economy enters from the stage of depression to the stage of revival because
of : '

(A) increase in demand for cépital goods

(B) increase in demand for consumer goods
(C) increase in demand for intermediate goods
(D) all of the above |

wtfdot, WAL dmssHiel Yedcinivl dossidi
(A) ¥Slagali-l Hidmi adl asil

B) auill argati-ll Hiosl adl qal

(© Heuadl axgii-l Hiomi adL qat

D) GUIAUL My

q SR8 WA B,

Eco.—II | 6



14. Gresham’s law states that :
(A) The value of money varies inversely with pﬁce level
(B) The value of money varies directly with price level
(C) Bad money drives out good money
D) Good money - drives out bad money
Aol Rl oend 8 3
(A) ~Ufliq Hed, cuaAUAHAL @Rd MW sledld ©
B) -uRlig ¥eu, ctadwd-l far wwaAni seau 8
(C) “Rlel Uy, AU A cifl 512 8
D) A3 UG, vUsL ik eidl 52 8
15.  The Critical Minimum Effort Hypothesis was formulated by :.

(A). A. O. Hirschman, \(B), R. Nurkse _

(C) H., Leibenstein ' (D) Paul Samuelson
Fafus yedy dact WRseys :

A) A, e¥An | B) . 1§

© AA. ARAREL @) Wid By2EA
glal 2w 8

16. . In Human Development Index, which. of the followmg indicators is not
‘included ?.
(A‘)‘ Life Expectancy at Birth
(B) Infant Mortality Rate
(C) Literacy Rate
(D) Adjusted per Caplta Income .
Wird Qs visul, QAunidl su Qf‘{!sfll AHLALA SAAUHL el -1%(1 ?
A) ¥ JHA 2[R wgw '
B (ay 3y &2 |
© ALl &R
D) Wudiovd WAl €6 2uds

Eco.—II o 7 | | P.T.0.



17,

18.

19.

- 20.

“The Crisis in capitalism is on account of the increasing concentration and
centralisation of capital.” :

(A) Totally ‘true » (B)‘ Partiélly true |
(C) Inadequate information @) (B) and (C) |
“uglanel s2isdl, ySldl q8dl Ut Ivdls@R 51 B | .
A) dAyelud wy ~ B) ifs Aad wy |
(©) 2yel wldl D) (B) ¥4 (C)

G, = G, = G is an equilibrium rate at full employment as given by :

(A) Harrod _ (B) Domar

(C) Schumpeter - D) Malthus

yol woul ulRdasl Aigaudl ex G, =G, =G :

(A) &3S (B) SR

© gxllex v D) weuy

gL UM Ul &
The concept of social duahsm was developed by :

(A) Higgins (B) Boeke .
(C) Eckaus (D) Bhagwati

ABUYS goaledl vl ¢ ;
@) ol ' , (B) o} ’
(C) A5Gy D) ol

gl [Rsaaami el 8. ‘

The ‘Backwash Effect’ refers to the fact that when a particular region develops
economically then :

(A) All the regions automatically develop'

(B) Some other regions, particularlly the backward ones lose

(C) No other region loses anything o

(D) None of the above ' ' :

‘UUS5ATL AUV VL eflsan euld © 3: FU SIS A AlssA uzy 2us Aa
Qs upidl eln Q-

(A) axd del adAAlad A Qs WA © ,
(B) 3edls v M2, v 5304 uwid ué&u pPud 8 " - 1
(©) 4 515 UBU $Y ¥ dpuddl Al

D) Gu-umidl siS wa Adl

Eco.—II 8



21.

22.

23.

In theory of development, Schumpeter stresses :

(A) the need for balanced growth
(B) the need for infrastructure
(C) the role of innovation

D) the capital accumulétion
Qs Rgiaui grdler :

A) yxglad [as-dl «3ud

B) davusla YR ¥3fud
(O Aanadqdl oiis

D) ysl A3y

UERNCTERETE 2

Fiscal deficit is :

(A) Total revenue — Total expenditure
(B) Total revenue — Total revenue expenditure
(C) Total revenue — Expenditure on capital account

(D) Revenue + Net Public borrowing — Expenditure on capital account

AU BUY BLRAGR

(A) &4 u8Ye — g4 wf

(B) 54 “dyd — §4 H3yd Y

(C) &4 “dyd — ysluitdl u-il v

(D) 4y + Ay NS G — HSluitdl Ul W

The incidence of tax refers to :

(A) The level and rate of taxation
(B) Who ultimately pays the tax
(C) Growth of taxation:

(D) The way in which tax is collected

50U Aed

L (A) S AR VA e

B) sigL iAn deisy 53 M
© sQaudl 9l
D) s AsA sl wgla

Eco.—II 9
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24.

25.

26.

In India, agncultural income tax can be levied by only

(A) Central Government
B) vState Govemment
(C) Both State and Central Governments -

- (D) Only Local Bodies

oildul, §MN 2uasd §5q -
(A) 3w AW

B) UYL AR _

(C) 3% el AL ARSI 6
D) &5d s aww

gl ¥ vl s 8. 3
.1f~the supply is perfectly elastic, then the burden of tax has to be borﬁ)e

by : ,

(A) Consumer and Supplier

(B) Only Supplier - ‘

(C) - Entirely b&*Cohsumei' '

D) All of the above ‘

A yast Aylud yeuula gl di, sl oA :
(A) LS A YRA& YA WS- |
(B) S8d Y48l YL WSHIR

©) Ayeludl 3ues

D) GUIAL dHn

gl dsrl Wy 8.

The proposition that there is opt1ma1 rate of taxation wh_lch maximises revenue

was first given by ’ ; :
(A) Alfred Marshall ' ®) Richard Musgrave

(€) Laffer ‘ | (D) Phillips

el e Ay dEl szazmt fhedy 62 R 4y ® A Rt A uay
A) weds wda ®B) ws “4Rld

(© w2 ®) Belbwy

él%l 8?.°ll‘1l. Q)llf{-!,
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217.

28.

29.

~ its area of :

The term subsidies include :

(A) Transfer by government or by business firms

(B). Transfer from business firms to individual

(C) Payment (iﬁ exchange. for which no goods or services .are provided

(D)‘A Payment to business in exchange for which no gdo,ds or services are
provided by the government L

‘Usd’ AsEHL

(A) AW 3 dasle WA gLl adl gl

B®) dsly Wil aldan adl a-us | «

©) Al ysarll ¥ F-u QAFadl SSw arg 3 A Yyl wsami 2uadl

D) AR gl dendla A5 Al ysaell 3 F w2 s arg § A Y3 wsanil
wuadl Al

4l uddY w8,

‘Which of the following is not a direct tax ?

(A) Income tax : (B) Wealth tax
'(C) Entertainment tax (D) Expenditure tax
Aol s0l ueua s oAl 7 |
(A) uds AR @) Auk A2

(©) H-liix A O wd dai

The commodity in which a nation has the least absolute disadvantage represents

(A) Comparative advantage
(B)' Comparative disadvantage
(C) Absolute. édvantagé
(D) Can not say without additional informatjon
¥ qig M2 U Yeidd FRla dkaet € A didi [c\mnru
(A) da-icis aet suld 8
B) da-lcts A enld 8
(© [Mda aiet sald ©
@ awd R QA sdl asy Adl

Eco.—II _ 11 , P.T.O.



30. The Bretton Woods system was :

(A) a gold standard (B) a flexible exchange rate system
(C) a gold exchange standard (D) None of these . o
ged 483 ugl : |
(A) Al-ud gle o B adldl RRwy e w.[a
©) Arug AR D ‘(D) Al A Al
31. Trade and exchange control refers to :
(A) Tariffs |
(B). Quotas

(C) Multiple exchange rates
(D) Restrictions on trade and international capital movement
iR A [QlRvY viga 2ed - |
(A) #sicl
®) sdat -
© agauull R e
D) AUR Vi UdRUNE HEl ”NUAR UL A4S
- 32. Immiserizing grthH refers to a situation where a country :
(A) Grows rapidly with trade
- (B) Gains from growth are more than offset by deterioration in terms of
trade | | | ﬁ‘
(C) Terms of trade improves with economic growth
(D) None of the above |
Aol et 53l 4 A Al YRRul & 3 i 2w :
A) uwR WA »sydl qle wid 8§
(B qledl adl aeil sdl cw-l wrdixi ag gsau-t ag &l 8
© »uls qfa WA cuwrdl wdl yui B
@) Gu-unil S8 el
Eco.—II 12



33,

34.

35.

For Heckscher-Ohlin the most important cause of difference in relative
commodity prices and trade between nations is a difference in :

(A) Factor Endowments

(B) Technology

(C) Tastes

(D) Demand functions

Ssu-2iledll gRen, wgt a2 axgl A& Buodl A czutuz a3 Wl
dstadd :Alell o s

(A) Gouwed wan Auk

B) 2s+idl®

© 3R

@) #id [@gul

93l dslad ©.

Trade in differentiated product refers to :

(A) Inter-Industry trade

(B) Intra-Industry trade

(C) Trade based on economies of scale :

(D) Trade based on imitation gaps and product cycles

elecilaysd degii UuR ved :

A) Gatldll aRAAL R

B) Geldt-l il R

(C) $tril Ul AL HLULR

D) ~As5e dUd 20 R As U AAUTd AWR | |
The comparative cost advantage theory was explamed w1th the help of
opportunity cost by :

(A) Haberler

(B) dJacob Viner

(C) Samuelson

(D) Jagdish Bhagwati

dsleus wal-l asiufl gariicns vl aleil [iwm

A) sud:

(B) %561 ASAR

(C) A3YidA-

D) el sdtadl

GLRL BUYAUHL Ll

Eco.—II 13 P.T.O.



36. ' The annual growth rate of per caplta net national product at 1993-94 prices
in 2000-01 was : :

(A) 1.9 B) 25

(C) 2.9 ®) 15

ay 1993-94 (I Budial ad 2000-01 Hiowagls Al Wy, Gedted-l s
ql& €2 :

(A) 1.9 S (B 25
(O 29 D 15

sdl.

37. Recent decline in rate of inflation in India is due to :
| (A) Globalization and liberalization of the economy
(B) Control of money supply
(C) Bumper food harvest
(D) Rising unempolyment ,
SRl oLl eMi QAL ¥R H2LSL
(4) wdda-il dadlsr A Czetz'lswt ‘
(B) -usul ‘-LQC{&"U %{éﬁl
(© i-iwd Rya Gewe-
@) audl ¥dl an
A 518 gl
38. The ﬁrst Nobel Prize in Economlcs was won by :
(A) Paul Samuelson
(B) Milton Friedman
(C) Tinbergen and Frisch
(D) Simon Kuznets and Hayek
Al Had e wWRAMNs RFw :
A) i Yvia- o
B Biced glsaq
(C) A-oF- w4 §lu
D) WU g™ A elds
gl | |
Eéo.—II 14



39.

40.

41.

Sex ratio refers to the number of females, in, the population. per 1000 male

population. In India over the years, the sex ratio :

(A) has changed in favour of women '

(B) has gone against women '

(C) has not changed =

(D) none of the above

el Aed aellil e eANR gg,m gls w{llil Aval. suAHL, AHAUPAR,

oqlaelia :

A) Wil a3l sgawdl 8

B) Wil Reui ceadl 8

(© oceendl =l

@) Gua-umidl siS <l :
The share of agriculture in, GDP in, India is apprommately

(&) 25%-30% S (B) 31%35%
(C) 40%-45% - (D) 45%-50%
ol @, 1l gl &&u CRICERE

(A) 25%-30% . (B) 31%-35%
(C) 40%-45% (D) 45%-50%
@l B. - -

~ In terms of the theory of demographlc transition, India can be placed in whlch ‘

of the followmg stages : :

(A) F1rst stage : High Blrth rate and low death rate =
(B) Second stage : ngh Birth rate and falling death rate N
(C) ‘Third stage : Low Brith rate and low death ratev

(D) Fourth stage : Low Birth rate and high death -rate :
axcldus Asili-l Rgidrl @3, oA ‘{hlvumaa su1 dnssiil 3l
asiy ? |
(A naH dosst : Gl o= £ AR Al Yy €2
B) olA dassl : GAl % £ A Hedl Yy €
©) AR dossl : Nl o= e el AL 4y e
©) Al detsst ¢ N2l % g A GAL Yy €

Eco.—II o 15 P.T.O.




42. Commercial paper as a monetary instrument was introduced in India in :

(A)
©

1989 - (B) 1990
1991 ' (D) 1992

L4, ~uaisle wun az‘l& A&y sl Guyiol :

A4)
- (©

1989 (B) 1990
1991 ~ .. (D 1992

wi 93wy, _
43. Which of the following is not included in the tertiary sector ?

A)
®)
©
)

Transport, Communication and Trade

Banking and Insurance

Public Administration, Defence and other services
Agriculture and Manufacturing - °

DAiell well wuda qdly @i adl Aol ?

4)
®)
(©)
D)
44. The

alert cqqen AR A R
Seglor v il | |
M3 adlae, AAe A 2y Qi
5™ A arg Gewtedt

mean and the standard devxatmn of the standard normal distribution

(2) is :

@)
(B)

0 and 1
1 and O

(C) both infinity

)

A)
B)

None of the above : |

WHUR e [Ad@ (Z) - Heus: a»t-’t quld [Qadn wqsd :

0 A 1
134 0

(C) ol divid _
O) Guunill 5§ Al ;

0.
E‘cq. —II
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45. To test the significance of the regression coefficient, one has to use :

(A) y2-test (B) t-test

(C) F-test : D) Z-test
Fudriviais- wedsdi ulaa w2 :

@A) xZ-uilaw | @) tudlaw
(©) F-udla @) Z-ulawel

AL GualoL sl ASA.
46. Fisher's ideal index is :
(A) Arithmetic mean of LaSpeyres’ and Paasche’s index -
B Harmopic mean of Laspeyres’ and Paasche’s index
(C) Geometric mean of Laspeyres’ and Paasche’s index
(D) None of the above
sl 2ued Yas Ais ¢
(A) aRAI A WAL YUAS AisiAl AHAR Heus
(B) @AY A Wl Yus sl Aagl v
©) @R A WL YAs visi-l AU HAs
M) Gu-unidl s AT |
3. |
47. The regression lines cut each other at the intersection point of :
" (A) Arithmetic mean of X and Y |
(B) Geometric mean of X and Y
(C) Harmonic mean of X and Y
D) None of the above
(udrisia 3wl AsellAn :
A) X A Y - Heusil Delbig ur 88 8
(B) X ¥ Y L delidr uausi-l Selbig ur 8t 8
(€) X A Y il ¥l Heusi-u Seléig w2 88 8
@) Guumidl siS ¢l

Eco.—II 17
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48.

49.

50.

When the coefficient of skewness is zero, the distribution is :

(A) J shaped ‘ B) U shaped
(CS Symmetrical D) L shaped
ol RMMdis 9d G © cul Rdra 3

@A) J s | B) U susia,
(C) dMd | D) L usiaiy
Sl 8.

Mathematical expectation of a variable is : ,
(A) The weighted arithmetic mean of the variable
(B) Median of ﬁhe vaﬂﬁblg |

(C\)v Mode of the variable

D) '.None of the above

aa 2l ARidls e A2Q

Q) A4ARAL U AMidR A2

(B) AL Hey |

© A4 ogas

D) Gua-umidl s «dl

Addition, theorem states that if two events A and B are. mutually exclusive,

the probablhty of occurrence of either A or B is given by :

(A) _PA) + PB) (B P& xP@®

(C} P(A) x P(B) — P(AB) (D) None of these

A uAY Ul © 3 R 6 H2rivil A 21 B 4R .[Aais ey cu A
“adl B a-taill deua-y

A) P@) + P(B) - (B) P(A) x P(B)

(C) P(A) x P(B) — P(AB) ®) Al S Al

gl31 'chwu 2 9, -

Eco —II - 18
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